

$$\int \frac{x+3}{(x+1)(x^2+9)} dx = (*) \quad \frac{x+3}{(x+1)(x^2+9)} = \frac{A}{x+1} + \frac{Bx+C}{x^2+9} \quad (1)$$

$$\frac{A(x^2+9) + (Bx+C)(x+1)}{(x+1)(x^2+9)} = \frac{(A+B)x^2 + (B+C)x + C + 9A}{(x+1)(x^2+9)}$$

$$\begin{cases} A+B=0 \\ B+C=1 \\ C+9A=3 \end{cases} \Rightarrow \begin{cases} A=1/5 \\ B=-1/5 \\ C=6/5 \end{cases}$$

$$(*) = \int \frac{1}{5} \frac{1}{x+1} dx + \int \frac{-1/5 x + 6/5}{x^2+9} dx =$$

$$= \frac{1}{5} \ln|x+1| - \frac{1}{5} \int \frac{x-6}{x^2+9} dx = (**)$$

$$\frac{x-6}{x^2+9} = \frac{1}{2} \frac{2x-12}{x^2+9} = \frac{1}{2} \frac{2x}{x^2+9} - \frac{1}{2} \frac{12}{x^2+9} =$$

$$= \frac{1}{2} \frac{2x}{x^2+9} - 6 \frac{1}{9((x/3)^2+1)} = \frac{1}{2} \frac{2x}{x^2+9} - \frac{2}{3} \frac{1}{(x/3)^2+1}$$

$$(**) = \frac{1}{5} \ln|x+1| - \frac{1}{5} \left\{ \frac{1}{2} \int \frac{2x}{x^2+9} dx - \frac{2}{3} \int \frac{1}{(x/3)^2+1} dx \right\} =$$

$$= \frac{1}{5} \ln|x+1| - \frac{1}{10} \ln(x^2+9) + \frac{2}{15} \int \frac{1}{y^2+1} 3 dy = \quad \text{NB } y=x/3$$

$$= \frac{1}{5} \ln|x+1| - \frac{1}{10} \ln(x^2+9) + \frac{2}{5} \arctan y =$$

$$= \frac{1}{5} \ln|x+1| - \frac{1}{10} \ln(x^2+9) + \frac{2}{5} \arctan x/3,$$

$$\int \frac{dx}{x^6 - 3x^3 + 1}$$

$$x^6 - 3x^3 + 1 = 0$$

(2)

$$x^3 = \frac{3 \pm \sqrt{9-4}}{2} = \frac{3 \pm \sqrt{5}}{2}$$

$$x^6 - 3x^3 + 1 = \left(x^3 - \frac{3-\sqrt{5}}{2}\right)\left(x^3 - \frac{3+\sqrt{5}}{2}\right) = (x^3 - a)(x^3 - b)$$

$$\text{where } a = \left(\frac{3-\sqrt{5}}{2}\right)^{1/3}, b = \left(\frac{3+\sqrt{5}}{2}\right)^{1/3}$$

$$(x^3 - a)(x^3 - b) = (x - a)(x^2 + ax + a^2)(x - b)(x^2 + bx + b^2) =$$

$$= (x - a)(x - b)(x^2 + ax + a^2)(x^2 + bx + b^2)$$

$$x^2 + ax + a^2 = 0 \quad x = \frac{-a \pm \sqrt{a^2 - 4a^2}}{2} = \frac{-a \pm \sqrt{-3a^2}}{2}$$

no real roots, $\Delta < 0$ (discriminant)
 left part of the denominator

Quotient

$$\frac{1}{x^6 - 3x^3 + 1} = \frac{1}{(x - a)(x - b)(x^2 + ax + a^2)(x^2 + bx + b^2)}$$

$$= \frac{A}{x - a} + \frac{B}{x - b} + \frac{Cx + D}{x^2 + ax + a^2} + \frac{Ex + F}{x^2 + bx + b^2}$$

Partial fractions, which can be used to integrate the function.

$$\begin{cases} A + B + C + E = 0 \\ aA - aC + D - bE + F = 0 \\ a^2A + b^2B - aD - bF = 0 \\ -Ab^3 - a^3B - b^3C - a^3E = 0 \\ -ab^3A - a^3bB + ab^3C - b^3D + a^3bE - a^3F = 0 \\ -a^2b^3A - a^3b^2B + ab^3D + a^3bF = 1 \end{cases}$$

$$A = \frac{1}{3a^2(a^3-b^3)} ; B = \frac{1}{3b^2(b^3-a^3)} ;$$

$$C = \frac{1}{3a^2(b^3-a^3)} ; D = \frac{2}{3a(b-a)(e^2+eb+b^2)} ;$$

$$E = \frac{1}{3b^2(b^3-e^3)} ; F = \frac{2}{3b(e^3-b^3)} ;$$

N.B. $a^3-b^3 = \frac{3-\sqrt{5}}{2} - \frac{3+\sqrt{5}}{2} = -\sqrt{5}$

$$a^2 = \left(\frac{3-\sqrt{5}}{2}\right)^{2/3} ; b^2 = \left(\frac{3+\sqrt{5}}{2}\right)^{2/3}$$

$e^2+eb+b^2 = \dots$ *two full number*

Porci x^2+ex+e^2 e x^2+bx+b^2 have $\Delta < 0$
obviously constructible none sep:

$$\frac{Cx+D}{x^2+ex+e^2} = \frac{\cancel{ex+a-a} + \cancel{2D/c}}{x^2+ex+e^2}$$

$$= C \frac{x + D/C}{x^2+ex+e^2} = \frac{C}{2} \frac{2x + 2D/C}{x^2+ex+e^2} =$$

$$= \frac{C}{2} \frac{2x+a-a+2D/C}{x^2+ex+e^2} = \frac{C}{2} \frac{2x+a}{x^2+ex+e^2} +$$

$$+ \frac{C}{2} (-a+2D/C) \frac{1}{x^2+ex+e^2}$$

(4)

$$= \frac{e}{2} \frac{d}{dx} \ln |x^2 + ex + e^2| + \frac{e}{2} \left(-a + \frac{2D}{c}\right) \frac{1}{x^2 + ex + e^2}$$

$$\underline{\quad} = \frac{1}{\left(x + \frac{a}{2}\right)^2 + \frac{3}{4}a^2} = \frac{1}{\frac{3}{4}a^2 \left(\frac{x + a/2}{\sqrt{3/4}a}\right)^2 + 1} =$$

$$= \frac{4}{3e^2} \frac{1}{\left(2 \frac{x + a/2}{\sqrt{3}a}\right)^2 + 1},$$

Infine:

$$\frac{cx + D}{x^2 + ex + e^2} = \frac{e}{2} \frac{d}{dx} \ln |x^2 + ex + e^2| + \frac{e}{2} \left(-a + \frac{2D}{c}\right) \cdot \frac{4}{3e^2} \frac{1}{\left(2 \frac{x + a/2}{\sqrt{3}a}\right)^2 + 1}$$

to start derive user's formula for $\frac{Ex + F}{x^2 + bx + b^2}$.

Our first integral complete is:

$$\int \frac{dx}{x^2 - 3x + 1} = A \int \frac{dx}{x-a} + B \int \frac{dx}{x-b} + \frac{e}{2} \int \frac{dx}{x^2 + ex + e^2} \frac{d}{dx} \ln |x^2 + ex + e^2|$$

$$+ \frac{e}{2} \left(-a + \frac{2D}{c}\right) \frac{4}{3e^2} \int \frac{1}{\left(2 \frac{x + a/2}{\sqrt{3}a}\right)^2 + 1} dx + \boxed{\begin{matrix} a \rightarrow b & D \rightarrow F \\ c \rightarrow E \end{matrix}} =$$

(5)

$$= A \ln|x-a| + B \ln|x-b| + \frac{C}{2} \ln|x^2+ax+a^2| +$$

$$+ \frac{C}{2} \left(-a + \frac{2D}{C}\right) \frac{4}{3a^2} \int \frac{1}{y^2+1} \frac{\sqrt{3}a}{2} dy + \frac{E}{2} \ln|x^2+bx+b^2| +$$

$$+ \frac{E}{2} \left(-b + \frac{2F}{E}\right) \frac{4}{3b^2} \int \frac{1}{y^2+1} \frac{\sqrt{3}b}{2} dy =$$

Abkürzung: $z = \frac{x+a/2}{\sqrt{3}a} = y \Rightarrow dx = \frac{\sqrt{3}a}{2} dy$

$$= A \ln|x-a| + B \ln|x-b| + \frac{C}{2} \ln|x^2+ax+a^2| +$$

$$+ \frac{E}{2} \ln|x^2+bx+b^2| + \frac{C}{2} \left(-a + \frac{2D}{C}\right) \frac{4}{3a^2} \cdot \frac{\sqrt{3}a}{2} \cdot$$

$$\cdot \operatorname{arctg}\left(\frac{2x+a}{\sqrt{3}a}\right) + \frac{E}{2} \left(-\cancel{b} + \frac{2F}{E}\right) \frac{4}{3b^2} \frac{\sqrt{3}b}{2} \cdot$$

$$\cdot \operatorname{arctg}\left(\frac{2x+b}{\sqrt{3}b}\right).$$

vor j^o behavior we write
dr. diff. eq. — the whole.